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OnpederneHue rno2apugpma

= Jlorapndomom nonoxXmTenbHOro
yucna b no ocHoBaHuio a, a>0,a#1,
Ha3blBaeTCs NokasaTernb CTeneHn B
KOTOPYH Hado BO3BECTWU YNUCIIO a,
4YTOObI NONYYUTb YUCSIO b.




OCHOBHOE fnorapugmMmmnyeckoe
TOXOECTBO




- OCHOBHbIe CBOWCTBA
| 5

log a” =n
log 1=0

log, a=1




BEINOHITE YCTHO
log, 2
log,,12
log, 3
log. 5




BbINOMHUTL YCTHO

log, 1
log,, 1
log. 1



log,16 =log,2" =4
log, 64 =log,2" =6
log, 27 =log;3’ =3
lc)g3 81 =log, 3* =4

- BbINonHUTL YCTHO




BbINOMHUTL YCTHO

logzé =log, 2" =-1



BbINOMHUTL YCTHO

310g318 =18
510g5 14 =14

710g7 8§ =8




BbINOMHUTL YCTHO
910g3 5 _ 3210g3 5

810g23 — 2310g23

2510g511 _ 5210g511




log xy=log x+log v

log,, 3+log,, 8=
=log,, 24 =1




- BbINOMHUTBL YCTHO:
AR —




CBouncTtBa norapndmosn

log, X log x—log v
Y

log, 24 —log, 4 =
24

:log67=10g66:1




BbINONMHUTL YCTHO:

43

J 12 48 — 10g12 4 :10g127:10g1212:1

:10g5§:10g5 25=2

=10g2%:10g24:2

=log,, ? =log,,10 =1



log b =i10gab

log b"=nlog, b




- CBouncTtBa norapndmosn
| 3

log ,b" =log,b

log.b

log b=
“ log.a




- anMepbl
. 3

1
log,, 6 =log, 6 = 5
log.125=1og.5° =3

log,, 64 =log., 2° = g :%




BbINONHUTL YCTHO:

log,2 =log.2'=

1

3

log,8 =log,2" =3

10g8 32 :10g23 2° =
10g27 31 =log . 3% =

W | K W[ W



BbINONMHUTL YCTHO:

log, 50,125 =log,0.5" =3
log, 0,027 =log,,03" =3

3

log 1 27 :10g3—1 33 :__1:_3
3

log, 27 =log, .3 =—=-15



CamocToaTenbHas paboTa

s Bblaucnuntb

1.1)log, 12 —log, 15+ log, 20
2.1)log, 15 +log, 18 —log, 10
log, 8
log, 16

log 27
log. 9

1.2)

2.2)




log.36—log.12
log. 9

BbluncnuTb
_ 1.3
4.:

2.3 10g7 8

log, 15—1log, 30




1 OJdononHuTenbHoe
3agaHue

36log6 5 n 101—1g2 _ 810g2 3

l—1102%9

(814 2 ’ +2510g1258)*4910g72




[lpoBepka

= 1 BapuaHTt
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= 2 BapuaHT
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